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The Maharaja Sayajirao University of Baroda

Faculty of Science
ENTRANCE EXAMINATION - 2024
PROGRAMME: BACHELOR OF COMPUTER APPLICATIONS

DAY & DATE: Monday, 10" June 2024 TIME: 3:30 PM to 5:00 PM

Important Instructions:

1. This test booklet is to be opened only when instructed by the invigilators to do so.

2. This booklet carries 50 questions. All questions carry equal marks.

3. For every correct answer, candidate will earn 2 marks; 0.5 marks will be deducted
for every wrong answer.

4. Exam Seat Number must be entered correctly in the OMR sheet, as instructed by
the invigilators. The Question Booklet code (A, B, C or D) must also be mentioned
on the OMR sheet (If not printed already) as instructed.

5. Answers must be marked in the OMR sheet using a black or dark blue ball point
pen only. The circle should be filled in completely, leaving no gaps.

Correct way of marking answer: Incorrect ways of marking answer:
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6. Gadgets (Mobile phones, pagers, earphones, music players, calculators etc.) are
strictly prohibited in the exam hall. If any candidate is found in possession of any of
these at his/her exam seat, he/she is liable to be disqualified.

Invigilator’s Signature:
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A

Questions
usll

Let a and b be two positive integers. The L.C.M. of a and b is sixteen times their H.C.F.
The sum of H.C.F and L.C.M is 850. If a is given to be 50, the value of b is

QA tot Yallsl a vl b AAA 8. a ¥ b oll LCM. AMotl H.CF. oll 16 01U B. L.CM. A H.C.F.
oll URcllol 850 8. ¥l a = 50 &lal L b of HeA 32 UA?

(A) 830 (B) 800 (C) 700 (D) 550.

(0.02)2+(0.03)2+(0.04)2
(0.002)2+(0.003)2+(0.004)2

The value of\/

(0.02)2+(0.03)2+(0.04)2 i yeal
(0.002)2+(0.003)2+(0.004)2 d A

(A)0.048 (B) 0.48 (C)10 (D) 0.023.

Let ny, n,, N3, Ny. Ng, NG, N, be seven consecutive even numbers and my, m,, my, my. ms
be five consecutive odd numbers, then the average of all the twelve numbers is

UAA A s@s Al AvAl A 1y, 11y, N3, Ny N5, NG, Ny O, B My, My, M3, My Ms A U
s(ls Al Avall AW B, Al Wl GR AvauA of URAA YU 32d alu?

5n,+7ms (B) 7n;+5ms (C) TN4+5ms (D) 7nq1+5mq

(A) 12 12 12 12

If m% of a is equal to n% of b, then p% of b is what percentage of a?

N acm%PBA b oll n% HRGR da Al boj p% A adll el estadl a?
(A) %% (B) %% (C) "—nf% (D) %%.

In a partnership business three brothers P, Q and R do certain investments for time
periods which are in the ratio 2: 1: 8. At the end of the business term, they receive the
profits in the ratio 3:4: 2. Then the ratio of investments of P, Q and R is

AER] ol cada Hi 2R U P, Q ol R AssU AHAOUL M2 AssU ASQL 52 & Boll
OJRllcR 2:1:8 8. cac ol Yed ol A A 3:4:2 otl QMR Ui otsl AA &. A P,Q,R
oll A5 oll YRR =

(A)6:16:1 (B) 3:8:1 (C)1:6:16 (D) 3:16: 1.

The upper end of a ladder, which is leaning on a vertical wall, coincides with the top of
the vertical wall. The bottom end of the ladder is 10 m away from the wall and makes
an angle of 60° with the horizontal ground. While a man starts climbing the ladder, it
slips away and stops when it makes an angle of 30° with the horizontal ground. Then
the ladder slips away a distance of

As A0l flad uR 2sacl B. Asll GURell B Glell €latd ol 21U WA HAA B. AU o
oAl B Elauct &l 10 {leR g2 & ol ot AA 60° ol YEL clolld B, 2R QR AR
UR Ugclle] A3 5 B AR A AL & B. ol 300 ol Al A A28l oA B. Al Rl decl
UAR AR A 82

(A) Z=m ()

@131 m (€)20(v3-1)m  (D)10(¥3 —1)m.

(Continued on slip no. 2)
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If x and y are given by the expressions x = (cos12° — c0s36°)(sin96° + sin24°) and
y = (sin60° — sin12%)(cos48° — cos72Y), then the value of % is

%l x = (cos12° — c0s36°)(sin96° + sin24°) wa y = (sin60° — sin12°)(cos48° —
c0s72%) A Al § =

(A) 2 (B)O (1 (D) —-2.

If Rs 12000 is divided into two parts such that the simple interest on the first part for
three years at 12% per annum is equal to the simple interest on the second part for 4%
years at 16% per annum. Then the greater part is

3. 12000 A ctal Hi Al A Qe scuul 4A B ¥ As eldl U 3 o 1 alls 12%
oll €2 ALEL cAll%o{l 25H, WA oflost oL UR 4% a 2 s 16% il €2 ULEL cAle{l 285K, A
olal RsH ARVl Al B, Al A2l ewdl 32cll 25H ol 89?

(A) Rs 4000 (B) Rs 8000 (C) Rs 9000 (D) Rs 5000.

A sum of Rs 2000 amounts to Rs 2315.25in 1 % years with interest being compounded
half-yearly. The rate percent of interest per annum is

s usg(& calos A 1% adul 3. 20004l 25H 3. 2315.25 Fecll wA ©. A wlls cauer
ol €R % 9.

(A) 8.5% (B) 10% (C) 5% (D) 6.5%.

A railway track-man standing near railway tracks finds that two trains running in
opposite directions cross him in 30 seconds and 15 seconds, respectively. If the trains
cross each other in 25 seconds, the ratio of the speeds of the trains is

AA 25 WA GAAL A AA 25-Aot ol A B ¥ (Agg Rauni Elsll A 261l Ax WaysA 30
AscSHL U 15 ASSHL 5lU 52 B. wl & 2ot Asollostal 25 AS5S UL 51U 52 O, Al 2allofl BsU oll
SJ(REES ua.

(A)2:1 (B)1:2 (C)3:2 (D) None of the above.

The circumference of a circle is 10% more than the perimeter of a square. If the
difference between the area of the circle and the area of the square is 216cm?, how
much does the diagonal of the square measure?

ada ol uRY , ARUell URA(A el 10% ay 8. % ddn ol AAsn Bl ARYU «ll AASA
AR oll dslalct 216 adl A.HL &l Al ARuUetl 59l of WU 3ed w?

(A)30cm (B) 25cm (C) 20 cm (D) 15 cm.

If the radius of a right circular cone is increased by q% without increasing its height,
then the percentage increase in the volume of the cone is

aNsR g ol A2l Aol QLU ctral @Qoll g% B B. Al 2y ol Uotsn Hi 2slaldl Hi 3eAl
adulR U2

(A) 242 (B) g + g2 (€L (D) q (2 +-L).

(Continued on slip no. 3)
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A man sells a table and chairs for Rs. 4000 each, neither losing nor gaining in the deal. If he sold
the table at a gain of 25%, then the chairs he sold at a loss of

As Al 2uet Aol Y2l €ls €5 ol 3. 4000 Hil AA B, WM Aol oAFl ¥ ofslot U otell.
A 2ud A 25% o3l AFA AA Al well AAcMl Ud ofslet Feq 2

(A) 162 % (8) 182 % (C) 23% (D) 20%.

39 .
,y 5 — IS

. L .4 9
The missing fraction in the series 5% v

20

el A % % ,—,% i wtell ol ot e, et @sellHiell Ao vl H3L.

19 14 20 17
(A) - (B) 5 € = (D) &
What will come in place of the question mark in the following series?

AUAA QMM yst Rlodotl eUal, WA Qs il s¢ vl wa?

117, 389, 525, 593, 627, ?
(A) 680 (B) 676 (C) 644 (D) 686.
Select the related word from the given alternatives.
UAA [@Asell Higl 002 [@Aseu ude s,

Pride is to lion as shoal is to
(A) student (B) teacher (C) self-respect (D) fish.

Fill in the blank in the following.
ol Aett 1l A [@Aseu ysl vl ot YA,

Triangle : Hexagon ::
(A) cone : sphere (B) pentagon : heptagon
(C) rectangle : octagon (D) angle : quadrilateral.

What comes in place of the question mark in the following?
Yt Rosell eUa, 20 [@Qscluidll 0o [@Qseu ys.

C3F6: I9L12 :: K11N14 :?
(A) L16015 (B) Q17T20 (C) R18U21 (D) N18Q21.

In a certain language ‘to be polite’ is coded as ‘fa so |a’, ‘she is polite’ is coded as ‘so me
pa’ and ‘to have manners’ is coded as ‘na la ma’. What is the code for ‘be’ in that
language?

As AlssU UL3(As enl Hi 'to be polite' ol 'fa so la' dd cvicuHl qA 8. 'she is polite' &
UB(As el 'so me pa' dvcllHl WA B. Wal 'to have manners' ol 'na la ma' d3l3
AMHL A B, Al L UBAs el 1 'be' A g cwidl?

(A) me (B) la (C) fa (D) so.

(Continued on slip no. 4)
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20. A and B are brothers. X is sister of Y and X is mother of A. Whatis Y to B?

21.

A Bl BA U B, XA Y oll cddot B, uUaA XA Aol 1l B, Al Yoll Buoll g ol 632

(A) Uncle (pis@) (B) Brother (aL¢5) (C) Father (A (D) Mother (Hicll).

If P + Q means P is the brother of Q; P X Q means P is the father of Q and P — Q

means P is the sister of Q, then which of the following relations shows that I is the
niece of K?

B P+QAAPAQoll S B; P X QUCA PN Qoll Al ® WAl P — Q AN2A P A
Q oll odat &, A ollActtHill 520 Aol ol & ¥ 1A K ol el 82
ANK+YXI-Z BK+Y+Z—-1

(C)Z—-IXY+K (D)KxY+1—-7Z.

22. In the following problem figure, find the suitable figure in place of the question mark.

23.

Usl Rodetl e, WA @Qscquiell 002 2uisld urie 3.

Problem Figure

Answer Figures

Il |
I 1@l

In the problem figure given below, which of the following answer figures comes in the
place question mark?

yal i AL 2Us(QAR (Problem Figure) tllet Hi A, Ut Rodell ULl 56 ws(Q wadl?

Problem Figure

Answer Figures

w| 2| ® | o] | o A

(A) | (B) I (€

24. What should come next in the problem figure?

sl Hi AU (Problem Figure) (At sHA tllotHl Actl, UosN 565 sl 2cdl?

Problem Figure

HE R B

Answer Figures

(A) >i3 (B) 3?: (€) 302 (D) é‘é%

(Continued on slip no. 5)
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25. What should come in place of the question mark in the following?
Yyl Hi WA (Problem Figure) BUs[AIA tulotil Actl, Ut Rodetl &R 58 vUslA 2c?

Problem Figure

AG® @

Answer Figures

@ ~ o T -

26. Make the following sentence grammatically correct by replacing the underlined phrase
from the options given.

“She always behaves as if she has not care at all about my feelings.”

(A) as though she will not (B) as if she doesn’t
(C) as far as she doesn’t (D) like if she does not.

27. Fill in the blanks with the correct form of the verbs given in the brackets choosing from
the alternatives given.

“We (plan) to go to a hill station. Last year we (go) to Shimla. We
(decide) to go somewhere else this time.”

(A) planned, went, decided (B) have planned, have gone, have decided
(C) are planning, went, have decided (D) plan, went, decided.

28. Fill in the blanks using one of the alternatives given to make the sentence complete.
“The child kept on crying while it
(A) is bathed (B) is being bathed
(C) was bathed (D) was being bathed.

29. Select the word which is closest to the opposite in meaning of the underlined phrase in
the following sentence.

“He was on pins and needles while his wife was undergoing an operation.”

(A) unexcited (B) at rest (C) undisturbed (D) relaxed.

30. Choose the word nearest in meaning to the underlined word in the following sentence.
“The young girl appeared self-possessed in front of TV cameras”.
(A) shy (B) confident (C) introvert (D) extrovert.

31. Choose the option containing the right sequence of articles that would complete the
passage given below.

“ Mettur dam is old multi-purpose project of
South Indian state of Tamil Nadu across Cauvery river.”

(A) a, an, no article, the (B) the, an ,the, the

(C) an, a, the, no article (D) no article, a, the, an.

(Continued on slip no. 6)
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There are two blank spaces given in the following sentence. Fill the blanks choosing
from the pair of words given in the same sequence to make the sentence meaningfully
complete.

“Itis for every tax payer to the tax returns to the income tax
department”.

(A) necessary, lodge (B) binding, pay

(C) obligatory, submit (D) possible, remit.

Storage area of e-mail messages is called
g - ASA Az A ol AoLe sl WA B?

(A) folder (31¢SR) (B) mail box (A& clls)
(C) file (5185 (D) directory ((33s23).

The Web browsing software Google Chrome was developed by Google Inc. in the year
Act GGAL A AR : LA S1H A Google Inc. IR s AN Ui [AsAlctclHl IR] &

(A) 2010 (B) 2007 (C) 2008 (D) 2009.
Which virus has been recognized as the first mobile phone virus in the world?
(A2 oll yuH NS Slot clRU d3l3 sl clA™ o WOHAHL WA B?

(A) Good Times virus (9S 2L clAR™U) (B) Friday virus ($L&5 3 aldY)
(C) Smart dog (¥ML& S\o1) (D) Cabir (5UAR).

Which of the following is the fastest to read from and write to than the other kinds of
storage in a computer?

512 Ul Ao YSIR oll R scll ol Aottiiell s cliual- cwal w2 Wel Bsul &2

(A) CD-ROM (L $l- An) (B) Floppy Disc (scQUl (32s)

(C) RAM () (D) Hard Disc (5L$ (35).

In Excel, getting data from a cell located in a different sheet is called

ASAA (Excel) Hl AL 2lle Hi RA At Hidl 32t Anaalal sdclHl A 8.
(A) Referencing (2%:(0d1) (B) Updating (Au3(3a)

(C) Accessing (RAsAd1) (D) Functioning (§52te{lo1).

What does COUNTA( ) function do in MS Excel?
AL A AsAA (MS Excel) Hi COUNTA() of st g 82

(A) Counts cells having alphabets (Hou &l uRlcdl SIMe{l 21QLd3l 52 B)
(B) Counts empty cells (vitcll SIMe{l oLl 52 ©)
(C) Counts cells having numbers(ivau unadl S\le{l ol 52 )

(D) Counts non- empty cells (el ot Slat Al SIle{l 2R3l 52 B).

(Continued on slip no. 7)
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In MS Word, background colour or effects applied on a document is not visible in

A A” a8 (MS Word) Hi AsdUBos SR AU SIsRo UR G| SReUHL WA AU
H A astdl o2l

(A) Web layout view (Ao @ G2 <)) (B) Print layout view (o2 & G2 c?j)
(C) Reading view (31(3a1 2j) (D) Print preview (Qoe Ylcy)).

Which of the following is not a valid version of MS office?

ol Aotl Higll 53] WAHAY U (MS Office) of Hioal 50U o12ll?

(A) Office 2007 (RAU3U 2007) (B) Office vista (A3 (Azel)

(C) Office 2016 (A% 2016) (D) Office 365 (A3 365).

Which option in MS Power Point allows to carry slides from one computer to another?
AHAY WaR W2 (MS Power point ) Hi 52 [Ascu As slejerel oflost sliejeul el s

A el uRaled(l 2 82

(A) Save As (B) Save and Go (C) Pack and Go (D) Web and Go.

In MS Power Point, in order to see all slides on one screen, we use

AH A” WaR Wz (MS Power Point ) Hi oltll g5 As 8ot UR oslall H2 Aol GUAldL
s3A A2

(A) View, slide sorter (B) View, slide

(C) View, master (D) View, slideshow.

Sweating during exercise indicates operation of which of the following process in the
human body?

el g atet URAA Histal AFRUL ol Actiell 818 YlBal of At YAA B?
(A) Enthalpy (Rstcdl) (B) Homeostasis (Sl{lARRA™N)

(C) Phagocytosis (300U R (D) Osmoregulation (RARH JALUe).

44. Nobel prize for the prediction of Meson particles was awarded to

45.

Aot 500 ofl AUEL MR AAA Y1812 ol Aol SRAHL LAl &cll.
(A) H. Yukawa (AL Yslall) (B) Max Plank (Asd wis)
(C) Fermi (54 (D) Anderson (AcsUat).
Out of the following remains excavated in Indus Valley, which one indicates the

commercial and economic development?

Ry vllgl 1l Weai waal Haddiel oActuiell s3f wadn il ua wEs Qs
gala &2

(A) Pottery (HIElsIH) (B) Seals (Ricw)
(C) boats (alls2) (D) Houses (Hslell).

(Continued on slip no. 8)
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46. The Mauryan dynasty was overthrown by
gl 12l dal A GaetiaaHi e edl.

(A) Harsha (&Y) (B) Samudragupta (434s i)
(C) Pushyamitra Shunga (Y=t (2t jo1) (D) Kanishka (s(xs).

47. Which of the following is not a fundamental right?
ol Aettriell 520 Yoo wU@sR otell ?

(A) Right to Equality (4 Hlotcllell w(As1R)

(B) Right against Exploitation (20MQL AN w(@s12)

(C) Right to Property (Rcsctall w@s13)

(D) Right to Freedom of Religion (ol 2alcdatcioll (As12).

48. The eighth Five Year Plan gave priority to
wleHl daarla Aowetiil sl yaBsdl vituaHl il sdl?

(A) industrial growth (RUEs (Asi)

(B) promotion of exports (sld & Ullsat)

(C) increasing agricultural productivity ({s[ﬂ Geule sllHl C{ma)
(D) employment generation (%2R ([AHIQY).

49. In which year, Sardar Vallabhbhai Patel was awarded with Bharat Ratna award?
URER cereells USEH ol sl cHl CULRcl Rcotl AAS AUCLHL ALcA?

(A) 1991 (B) 1992 (C) 1993 (D) 1994.
50. The second largest island in the world is
@ ol ol AWl A2l ety s B2

(A) Borneo (6llo{[) (B) Madagascar (HISLousR)
(C) New Guinea (s3] Plo{l) (D) Greenland (aflet@os).

THEEND___
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